





	4		3		2			1		
	THIS DRAWING IS UNPUBLISHED.	RELEASED FOR PUBLICATION					REVISIONS			
	C COPYRIGHT 20	ALL RIGHTS RESERVED.			ΕS	P LTR	DESCRIPTI	ON	DATE DWN APV	VD
							SEE SHEET I			-
							SEE SHEEL I			-
D					NOTE					D
					NOTE: _ I.PUT F	PARTS IN THE TR	AY.			
					(C) 2. PUT 3	5 PACKED TRAYS 4 INNER CARTONS	INTO ONE INNER	R CARTON.		
	$\sim$	v			TOTAL	_ 20 PACKED TRA	YS.	ER CARION.		
	П				3.SEAL	THE CARTON AGING QUANTITY:	SEE TABLE			
	$\downarrow$	T R A Y				AGING SPEC : IO				
	<b>~</b>		(							
		>		-	PARTS PER	TRAYS PER	PARTS PER	TRAYS PER	PARTS PER	1
			F	PART NUMBER	TRAY	INNER CARTON		OUTER CARTON	OUTER CARTON	
				-2834075-1	288 PCS	5	1440 PCS	20	5760 PCS	]
	Π	INNER		2-2834075-1	288 PCS	5	1440 PCS	20	5760 PCS	
				8-2834075-1	288 PCS	5	1440 PCS	20	5760 PCS	
	~ -			1-2834075-1 -2834075-2	288 PCS 288 PCS	5	1440 PCS	20	5760 PCS 5760 PCS	
		$\prec$		2-2834075-2	288 PCS	5	1440 PCS	20	5760 PCS	
		$\rightarrow$		3-2834075-2	288 PCS	5	1440 PCS	20	5760 PCS	11
C				1-2834075-2	288 PCS	5	1440 PCS	20	5760 PCS	С
				-2834075-3	288 PCS	5	1440 PCS	20	5760 PCS	
				2-2834075-3	288 PCS	5	1440 PCS	20	5760 PCS	
				8-2834075-3 4-2834075-3	288 PCS 288 PCS	5	1440 PCS	20	5760 PCS 5760 PCS	
	П		OUTER CARTON	2004010 0	200 100	5	1440 100	20	5700 105	
	۲۲ ۲		OUTER CARTON							
	Ŷ									
				_						
В										В
				0 1 00NT00 00		15 111 12016				_
			THIS DRAWING I	S A CONTROLLED I		ZHANG WEI	_	TE TE C	onnectivity	
			DIMENSIONS:	TOLERANCE	CHK ES UNLESS	SHI MING				_
			mm	OTHERWISE ± 0	5	XU XIANG		RECEPTACLE		
A				0 PLC ± 1 PLC ±	PROD	UCT SPEC  08- 37093	MINIATU	RE WATERPROOF	CONNECTOR	A
				<del>2 PLC ±</del> 3 PLC ±		ICATION SPEC				
				4 PLC ± ANGLES	±5°	4- 37093	SIZE CAGE CODE DRAW		RESTRICTED	то
			MATERIAL	FINISH	WEIG	нт _	A 300779C		-	
					- CUS	TOMER DRAWING	· · ·	scale 5:1 sh	EET 4 OF 4 REV C	
	1470-19 (3/13)				L					

## **Mouser Electronics**

Authorized Distributor

Click to View Pricing, Inventory, Delivery & Lifecycle Information:

TE Connectivity: 2-2834075-3